
Instruction Page 1 of 2 1/02 

ThyCurb
by the fabricating division of
Thybar Corporation

 
 
 

 
 
 
 

INSTALLATION INSTRUCTIONS     
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

Support Framing
2 1/2" Tape Mastic

Field Cut Notches
at Ribs

Caulk
(Continuous 1/4" Bead)

Outline Of
Roof Curb

Cell Cap

W L

Screw Down 
Roof Panel 

 
Loose Cell Caps 

1. Measure and cut hole in roof panel. (Opening width
= curb I.D. and Opening length = curb I.D.+ 15”). 

2. Measure curb for field notches in flanges at ribs
5" wide x 3" deep front and back (do not oversize
notches). 

3. Mark curb flange locations on roof panel, remove
curb, install 2 1/2" tape mastic 1/2" inside of mark. 

4. Apply 1/4" bead of urethane caulk between tape
mastic and mark at all 4 sides. 

5. Place curb over opening and attach to roof with self-
drill screws. 

6. Finger tool to form caulking for a proper seal and
drainage. 

7. Do not reverse steps 5 and 6. 
8. Follow instructions on back of sheet for cell caps, 

screws, tape mastic, and caulk. 

General Notes: 
 
1. Cutting holes in roof panel should be done 

with an electric shear, nibbler, or 
reciprocating saw.  The use of an abrasive 
saw will damage the finish of the roof panel.

2. Deburr all field cut edges at panel ribs. Cut 
(do not tear) tape mastic at 45° angle at 
corners. 

 
Note: These instructions are meant as a 

general guide only. Some 
variations may occur, refer to as 
built drawings before proceeding. 

 

*Screws, tape mastic, caulk, and support 
framing by others 



Instruction Page 2 of 2 1/02 

 
 

ROOF PANEL

CURB FLANGE & ROOF PANEL
SUPPORT CHANNEL

1/4" BEAD URETHANE CAULK (CONTINUOUS)
ALL SIDES OF CURB FLANGE

Roof Curb Downslope Flange

Roof Curb - Sides Section AA

2 1/2" TRIPLE BEAD
TAPE MASTIC (CONTINUOUS)

ROOF CURB

1" X 3/16" TAPE MASTIC
ALL FLANGES OF CAP

NOTCH CURB BASE FLANGE TO FIT
OVER SEAM 5" WIDE x 3" LONG

CURB FLANGE & ROOF PANEL
SUPPORT CHANNEL

Roof Curb Upslope Flange

SCREW DOWN ROOF PANEL

1/4" BEAD URETHANE CAULK (CONTINUOUS)
ALL SIDES OF CURB FLANGE

1/4" BEAD URETHANE CAULK ALL SIDES OF CAP

1/2

LOOSE CELL CAP

3

ROOF CURB

LOOSE CELL CAP

Erection Details-Loose Cell Caps
Screw Down Roof Panel

ROOF CURB

3
1/2

#12 SELF TAP SCREW LOCATED
AT EACH PRE-DRILLED HOLE EXCEPT INTO
PANEL CORRUGATION (7 PER CELL CAP)

#14 SELF TAP SCREW LOCATED
AT EACH PRE-PUNCHED HOLE
ON TOP OF CAP

1/4" BEAD URETHANE CAULK ALL SIDES OF CAP
#12 SELF TAP SCREW LOCATED
AT EACH PRE-PUNCHED HOLE

1/4" BEAD URETHANE CAULK (CONTINUOUS)
ALL SIDES OF CURB FLANGE

SCREW DOWN ROOF PANEL

1" X 3/16" TAPE MASTIC
ALL FLANGES OF CAP

NOTCH CURB BASE FLANGE TO FIT
OVER SEAM 5" WIDE x 3" LONG

2 1/2" TRIPLE BEAD TAPE MASTIC (CONTINUOUS,
INCLUDING OVER STANDING SEAM)

CURB FLANGE & ROOF PANEL
SUPPORT CHANNEL

#12 SELF TAP SCREW LOCATED
AT EACH PRE-PUNCHED HOLE

#14 SELF TAP SCREW LOCATED
AT EACH PRE-PUNCHED HOLE

ON TOP OF CAP

#12 SELF TAP SCREW LOCATED
AT EACH PRE-PUNCHED HOLE

2 1/2" TRIPLE BEAD TAPE MASTIC (CONTINUOUS,
INCLUDING OVER STANDING SEAM)

#12 SELF TAP SCREW LOCATED
AT EACH PRE-PUNCHED HOLE

 


